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 y = -2x - 4 

(7, -7) 

(-12, -1) 

a = ¼  

No since 
mKL ≠ mLM 

Un+1 = ½Un + 9 

4x² - 12x + 10 

k-1(x) = 4x - 1 

5𝜋

4
 

a = 7, 
b = 3, 
c = 5 

−
3

8
 

-2 < x < 6 

Min TP @ (0, 0) 
Max TP @ (2, 8) 

𝑥 − 2 𝑥 + 7 𝑥 − 5  

(-1, 1), 
(2, 4), 
(4, 6) 

y = 
2

9
x(x – 6) 

c < 2,  
c > 10 

𝑦 = 2𝑥3 −𝑥2 + 6 

81

4
 𝑢𝑛𝑖𝑡𝑠² 

3 +  √21

8
 

𝜋

3
 , 

4𝜋

3
 

41∙4°, 
180°, 
318∙6° 

2𝑠𝑖𝑛𝑥𝑐𝑜𝑠𝑥

𝑠𝑖𝑛𝑥
𝑐𝑜𝑠𝑥

 

=
2𝑠𝑖𝑛𝑥𝑐𝑜𝑠²𝑥

𝑠𝑖𝑛𝑥
 

= 2𝑐𝑜𝑠²𝑥 

Since 
10 = 10 

43∙0° 
1

12
(4𝑥 + 9)3+ 𝑐 

x = -6, x = 2 2cos (𝑥 + 300)° 

C(3, 0) 
r = 7 

𝑦 = 4(𝑥 − 1)² + 5 
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